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21. Solve cach problem. Explain how you
decided which operation to use.

a) Justine usually runs 73 laps of the
track before breakfast. This morning,
she had to be at school early so she
only ran 3} laps. By how many laps

At nL o9F ¥ did Justine cut her run short?

Write cach improper fraction as a mixed
number.

b) Lyle slept for 63 h on Monday night.

17. Multiply. Estimate to check cach product On Tuesday night, Lyle slept 13 times

is r;asnmbk» 5 as long as he did on Monday night.
a) 5 X 36 b) 3 %21 How many hours of sleep did Lyle get
9ixi 9 Fx3 on Tuesday night?
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